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G| lUAR EZ 40 40 80 13.0 67.0
260 | R RBAE 39 42 81 13.0 68.0
Mg =5 37 43 80 12.0 68.0
M BiR 28 42 40 82 13.0 69.0
5(| KE =70 36 37 13 4.0 69.0
66z U & 36 39 75 6.0 69.0
&5 & 39 42 81 12.0 69.0
8fi ZAH 1EHA 45 36 81 11.0 70.0
oL #H & 45 38 83 13.0 70.0

106 BH ER 40 40 80 10.0 70.0
11467 a = 39 40 19 9.0 70.0
1261 ;BH = 39 44 83 13.0 70.0
13 @\l FB 39 45 84 14.0 70.0
1441 188 &S 44 37 81 10.0 71.0
156 | 'K =X 44 39 83 12.0 71.0
166 B FE 40 38 18 7.0 71.0
1760 AT 7% 40 38 18 7.0 71.0
184 |7 EZEB 40 41 81 10.0 71.0
196 BER =2 39 40 19 8.0 71.0
204 BRA  SEfE 37 42 19 8.0 71.0
VAR YA /N == = o 45 40 85 13.0 12.0
22431 | A = 45 41 86 14.0 72.0
2361 EH 44 41 85 13.0 72.0
24461 | Bl B=E 44 42 86 14.0 12.0
254 |BRIR B 43 41 84 12.0 72.0
266 T BHE 39 38 77 5.0 72.0
2741 3O FPiE 43 43 86/ 14.00 72.0
2847 | RIG  FEM 40 44 84/ 12.00 72.0
296I|%H BX 44 M 85 12.0f 73.0
304 | B A% 43 M 84/ 11.0/ 73.0
6L |1&% EmR M M 82 9.0/ 73.0
324 ¥ #Fk M M 82 9.0/ 73.0
KKT A b7 NI ¥ 1 39 40 79 6.0 73.0
M0 —1f8 39 45 84/ 11.0/ 73.0
356z fBH EiEHK 44 40 84/ 10.0/ 74.0
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6hL| LR B 44 43 87/ 13.00 74.0
ML /hA HZz 39 40 79 500 74.0
384G tHEHE EIh 42 43 85| 11.0, 74.0
396 EHeh  =ER 40 41 81 7.00 740
406I|BRE F 47 38 85| 10.0 75.0
A4 |FRIE i 44 44 88 12.00 76.0
4201 | —¥8 AT 45 45 90/ 14.0/ 76.0
4361 IBR B 47 41 88 11.0, 77.0
G PR EiE 42 48 90, 13.0 77.0
45GI| BE HB 45 46 91 13.0]  78.0
466I|BIRA FE= 46 47 93| 14.0 79.0
4761 | FhF RiE 44 39 83 3.0 80.0
48GI|ERKR FEX 46 45 91 11.0/  80.0
4961 & IER 48 47 95/ 13.0/ 82.0
50 BER R— 46 46 92/  10.0, 82.0
514 chife &4 45 51 96/ 12.0/ 84.0
527 ;EA —X 48 48 96/ 10.0/ 86.0
53fi kST =ER 48 52 1000 14.0, 86.0
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